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= = S AV 7 S HVE | = = S AV = S AV B2l =
’ 100kN/mM%# %% 1.00/ 000 ~ 3.26 152.18|3m#%#8%5|0.00 ~ 0.23 3.12 16.70| 100kN/m%#B% % 1.00| 10.54 ~ 31.94 152.18|3m%#B% 5| 25.00 ~ 31.94| 3.12 16.70
Fh st 1.00/3.26 ~ 11.04 100.00| Zhll4t | 0.23 ~ 11,04 3.00 16.05 ZFh st 1.00] 500 ~ 10.54 100.00| Zh st | 500 ~ 25.00| 3.00 16.05
5 100kN/mM%# %% 1.00/ 000 ~ 2.20 134.26|3m#%#8%5|0.00 ~ 0.19 3.14 16.78| 100kN/m%#B% % 1.00| 12.62 ~ 23.01 134.26|3m%#B % 5| 20.00 ~ 23.01| 3.14 16.78
Fh st 1.00/2.20 ~ 9.99 100.00| Zhlist |0.19 ~ 9,99 3.00 16.05 ZFh st 1.00] 500 ~ 12,62 100.00| Zh st | 5.00 ~ 20.00] 3.00 16.05
3 100kN/mM%# %% 1.00/ 000 ~ 2.97 147.20|3m#%#8%5|0.00 ~ 0.32 3.18 17.03| 100kN/m%#B% % 1.00/ 10.70 ~ 25.02 147.20|3m%#B % 5| 25.00 ~ 25.02| 3.18 17.03
Fh st 1.00/ 2.97 ~ 10.76 100.00| Zh k14t | 0.32 ~ 10.76] 3.00 16.05 ZFh st 1.00] 5.00 ~ 10.70 100.00| Zh st | 500 ~ 25.00| 3.00 16.05
4 100kN/mM%# %% 1.00/ 000 ~ 3.18 150.81|3m#%#8%%|0.00 ~ 0.18[ 3.10 16.60| 100kN/m%#B% % 1.00| 10.55 ~ 28.00 150.81|3m#%#B% 5| 25.00 ~ 28.00| 3.10 16.60
Fh st 1.00/3.18 ~ 10.97 100.00| Zh k14t | 0.18 ~ 10.97[ 3.00 16.05 ZFh st 1.00] 5.00 ~ 1055 100.00| Zh st | 500 ~ 25.00| 3.00 16.05
s 100kN/mMZ# %% 1.00/ 000 ~ 2.61 140.95|3m%E#BZB| - ~ = = -| 100kN/mM#%#8 %% 1.00| 10.54 ~ 21.99 140.95|3m%E#BZ % -~ = = =
Fh st 1.00/ 2.61 ~ 10.39 100.00| Zh k4t | 000 ~ 1039 2.74 14.66 Fh st 1.00] 500 ~ 10.54 100.00| Zh st | 500 ~ 21.99| 2.74 14.66
6 100kN/mM%# %% 1.00/ 000 ~ 3.1 149.56|3m#%#8%5|0.00 ~ 0.18[ 3.10 16.59| 100kN/mM%#B% % 1.00| 10.55 ~ 27.03 149.56|3m%#B % 5| 25.00 ~ 27.03| 3.10 16.59
ZFh st 1.00/3.11 ~ 10.89 100.00| Zh k14t | 0.18 ~ 10.89 3.00 16.05 Fh st 1.00] 5.00 ~ 1055 100.00| Zh st | 500 ~ 25.00| 3.00 16.05
; 100kN/mM#Z#BZ % 1.00/0.00 ~ 2.50 139.26|3mZ#BRBH| - ~ = = -| 100kN/mM%E# %% 1.00| 10.79 ~ 21.14 139.26| 3m%EH#BZ 5 -~ = = =
ZFh st 1.00/ 250 ~ 10.29 100.00| Zh k14t | 0.00 ~ 10.29) 2.85 15.27 Fh st 1.00] 500 ~ 10.79 100.00| Zh st | 500 ~ 21.14| 2.85 15.27
g 100kN/mMZ# %% 1.00/ 0,00 ~ 2.06 131.81|3m%E#BZB| - ~ = = -| 100kN/mM%#8 2% 1.00| 10.53 ~ 18.42 131.81|3m%i#BZ % -~ = = =
ZFh st 1.00/ 206 ~ 9.84 100.00| Zh kst | 0.00 ~ 9.84| 2.37 12.67 Fh st 1.00] 5.00 ~ 1053 100.00| Zhlu4t | 500 ~ 1842 2.37 12.67
9 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEEZD -~ = = =
ZFh st 1.00/ 000 ~ 6.65 83.97| #hilst [000 ~ 6.65| 1.86 9.96 Fh st 1.00] 500 ~ 823 83.97| #hilst | 500 ~ 823| 1.86 9.96
10 100kN/mM#Z#BZ % -l -~ = -|3mEBZB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEEZD -~ = = =
ZFh st 1.00/ 000 ~ 6.10 76.52| Fh st | 000 ~ 000 1.71 9.15 Fh st 1.00|] 500 ~ 7.02 76.52| T4t | 500 ~ 7.02| 1.71 9.15
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhnist ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEZD ~
st ~ Zh st ~ ZhLst ~ Zh st ~
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